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2 ~ A sociologist is interested Iin the relationship between education and
income, Data are collected from nine individuals as follows :

Individual Education Income
(measured in years of | (measured in
formal schooling) thousands of dollars)

1 4 6

2 6 12

3 8 14

4 11 10

5 12 17

6 14 16

7 16 13

8 17 16

9 20 19

a. Compute the Pearson r for these data. (10 4 )
b. Using these data, test the null hypothesis Ho:p = 0 against Hi: p >0. Use

a=.05 (10 %~ )

c. Construct Clgs for p. Remember that the critical value for the confidence
interval will be different from that the test of the hypothesis. (5 4 )
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— ~ Vocabulary and Phrases : Aword or phrase is missing in each of the
following sentences. Please select the best answer to complete the
sentence. (20 &)

1. Officer Chen appears to be polite, hardworking and . That's
why he was appreciated by his supervisor.
(A) aggressive  (B) absolute (C) accommodate (D) approximate
2. This journal article organized crime in our city. The police
should read it carefully.
(A) deals with  (B) goes out (C) does without (D) runs out of
3. In order to lay up a flexible mechanism for national rescue service, the
National Rescue Command Center needs to build up its organization

and establish its legal in detail.
(A) status (B) statistician
(C) stationer (D) stationmaster

4. A police focus on controlling disorder has been hypothesized to be an
Important way to reduce more serious crimes in

(A) nomads (B) nerves
(C) narratives (D) neighborhoods
5. After the government carried out an effective policy, crime rate is on
the :
(A) mission (B) decline (C) frustration (D) merchandise



6. The professor said that the unemployment rate moved up to 4.2%

would more social problems.
(A) cost in (B) survive from (C) result in (D) locate in
7. The chief looks cool and strict; he displayed any sign of
emotion.
(A) forgive (B) rarely (C) prepareto (D) activate to
8. Captain Wang got a promotion last week. It proved to

work hard in the agency.
(A) world-wise (B) wordplay (C) worthless (D) worthwhile

9. People who themselves to financial stress feel frustrated
easily and intend to commit fraud.
(A) represent  (B) expose (C) announce (D) recommend
10. People are glad to see economic recovery because

looking for a job is easier than before.
(A) subordinate (B) temporary  (C) articulate (D) sustainable

= ~ Translation (30 & )

(=) ¥
Five ways law enforcement agencies can implement the task force’s
recommendations:

1. Review and update policies, training, and data collection on use of
force.

2. Increase transparency of data, policies, and procedures.

3. Call on the POST (Peace Officer Standards and Training) Commission
to implement all levels of training.

4. Examine hiring practices and ways to involve the community in
recruiting.

5. Ensures officers have access to the tools they need to keep them safe.
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= ~ Reading Comprehension (20 &)

Confessions have been proved false in a number of situations, such as
when it is discovered that the confessed crime was not 1 ; when
new evidence shows it was physically impossible for the confessor to have
committed the crime; when the real perpetrator is captured; and when DNA
and other scientific evidence 2 establishes the confessor’s
innocence. False confession may be voluntary. Voluntary false confessions
are those in which people claim responsibility for crimes they did not
committed without 3 or pressure from police. There are several
reasons why innocent people might volunteer confessions, for example a
pathological need for attention or self-punishment; feeling of guilt or

4 ; or the desire to protect a parent, child or someone else.
Undoubtedly, false confession may also be involuntary. An involuntary
confession is one extracted by any sort of 5 . It is a forced
confession obtained under means of 6 , enhanced interrogation
technique or duress.

1. (A) committed (B) commit (C) committing (D) to commit
2. (A) aggressively (B) affirmatively (C) attractively (D) assembly

3. (A) prompt (B) prompted (C) prompting (D) be prompted
4. (A) exclusions (B) conclusions (C) collisions (D) delusions

5. (A) flavors (B) privileges (C) threats (D) capacities

6. (A) reward (B) torture (C) souvenir (D) pleasure



A turning point came [ May, when the Trump administration

announced a rule that would bar Huawei and its suppliers 8
using American technology and software. The decision, 9 to take
effect in September, could throw Huawei’s supply chain 10
chaos.

7. (A) during (B) from (C) on (D) in

8. (A) for (B) of (C) from (D) by

9. (A) slate (B) slated (C) slating (D) to slate

10. (A) into (B) by (C) at (D) beyond

z ~ Essay (30 &)

Many governments implemented social distancing and social isolation
in response to the Covid-19 pandemic, which transformed citizens’ social life.
These drastic changes in social patterns likely changed the demand for police
and other first responders services. Please describe your experience or
opinion about this situation. The length of your essay should be no less than
150 words and no more than 400 words.
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